How to utilize KAFKA more efficiently
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https://eng.uber.com/ureplicator/

Prepared for you
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Broker Options



log.retention.hours

» recommend: 72
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1KB/msg * 10,000(msg/sec) * 60(1min) * 60(1hour) * 24(1day) * 7days * 3(replica) * 10(topics)

168TB 72TB



delete.topic.enable

» recommend: true
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[root@dev-kafka01 ~]# /usr/local/kafka/bin/kafka-topics.sh --zookeeper
dev-kafka01.foo.bar:2181/dev-kafka --topic peter-topic --delete

Topic peter-topic is marked for deletion.
Note: This will have no impact if delete.topic.enable is not set to true.



allow.auto.create.topics

» recommend: false
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allow.auto.create.topics

» recommend: false
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allow.auto.create.topics
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allow.auto.create.topics

» recommend: false
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log.dirs

» recommend: /data

In computing, a temporary folder or temporary directory is a directory used to hold temporary files.
Many operating systems and some software automatically delete the contents of this directory at bootup or at regular
intervals, leaving the directory itself intact.

In MS-DOS and Microsoft Windows, the temporary directory is set by the environment variable TEMP. Originally, the
default was C:\Temp, then %WinDir%\Temp.

In Unix and Linux, the global temporary directories are /tmp and /var/tmp.

wikipedia


https://en.wikipedia.org/wiki/Directory_(file_systems)
https://en.wikipedia.org/wiki/Temporary_file
https://en.wikipedia.org/wiki/Operating_system
https://en.wikipedia.org/wiki/Software
https://en.wikipedia.org/wiki/Booting
https://en.wikipedia.org/wiki/MS-DOS
https://en.wikipedia.org/wiki/Microsoft_Windows
https://en.wikipedia.org/wiki/Environment_variable
https://en.wikipedia.org/wiki/Unix
https://en.wikipedia.org/wiki/Linux
https://en.wikipedia.org/wiki/Temporary_folder
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broker.rack(Rack Awareness)

» recommend: rack1

brokerlD -> rack mapping

0 -> rack1
1 ->rack3
2 -> rack3
3 -> rack?2
4 -> rack2
5 -> rack1

[0, 3,1, 5,4, 2]

Partition 0 -> 0, 3,
Partition 1 -> 3, 1,
S,

1
5
Partition2->1,5,4
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replication.factor

» recommend: 3
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Conclusion

We don’t use default options while using Kafka.






